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2001

3,500,000 720,000
2,500,000

1,000,000 420,000

70,000 250,000

150,000 150,000

300,000

= 600, 000

(A) 3,720,000 (B) 2,440,000
(A)-(B)= 1,280,000
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(56 ) (24 ) (48 )
RSA- 8% 10% 150

2,500,000 1,000,000 | 3,000,000 500,000 500,000

( ) N/A N/A N/A N/A N/A
(NT9) N/A N/A 8,335,440 N/A 1,000,000

( ) N/A 6,397,440(3) N/A N/A N/A
(NTY) N/A 6,418,880(4) | 17,741,520 N/A 1,500,000

( ) 28,044,000(1) N/A N/A N/A N/A
(NT$)| 28,135,120(2) 0 34,316,400 N/A 2,000,000
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600,000*1.558(
r=3%,n=15)=934,800

59
959

934,800*30=28,044,000
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250 D)
2,500,000*3.172( r=8%,n=15)=7,930,000

: 28,044,000-7,930,000-

_——

5,000,000=15,114,000

8015
PMT*27.152( . r=8%,
n=15)=15,114,000 PMT=556,644
56 15 8%
55 560,000*27.152(
r =8%,n=15)=15,205,120
5D

7,930,000+5,000,000+15,205,120=28,135,120
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$140,000*34=4,760,000

| 10
. 4,760,000*1.344(

r=3%,n=10)=6,397,440
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Y 4 ” = -y = j -y,
(4)
100 10 10%
10 1,000,000%2.594( r=10%,n=10)
=2,594,000
:0,397,440-2,594,000=3,803,440
10% 10
PMT*15.937( . r=10%, n=10)
=3,803,440 PMT=238,654
24 10 10% 10
240,000%15.937 r =10%,n=10)
=3,824,880
10

2,594,000+3,824,880=6,418,880
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RSA-8% 10% 12%
48 15 /
2001 56 / 24/ N/A
15
2002 56 / 24/ 48 N/A /
15
; N/A
2001 Investec GS Global Equity 40%
Invesco GT Healthcare ~ 30% N/A
Baring International Bond  30%
2002 N/A N/A N/A
(1) 128 56 24 48
(2)
®)
(4) trading
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